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ENGLISH - 20%

Directions: Select the appropriate word that is SIMILAR in meaning to the numbered word.

1. Bane

(a) Poison (b) Clusters (c) Bandage (d) Harmful
2. Clench

(a) Hint (b) Grip (c) Bend (d) Moss
3. Demise

(a) Relate (b) Popular (c) Terrible (d) Death
4. Irreverent

(a) Regardless (b) Sensation (c) Disrespectful (d) Regular
5. Nuisance

(a) Design (b) Castor (c) Fracas (d) Annoying
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Directions: Select the appropriate word that is OPPOSITE in meaning to the numbered word.

6. Grandiose

(a) Docile
7. Skeptical

(a) Theoretical
8. Opacity

(a) Iridescence
9. High-handed
(a) Dejected
Distend
(a) Pretend

(b) Unlikely to occur  (c) Simple

(b) Indifferent (c) Ready to believe

(b) Firmness (c) Transparence

(d) Poverty
(b) Reasonable (c¢) Hard-handed
10.
(b) Tell the truth

(c) Shrink (d) Collect

(d) Short-handed

(d) Light in weight

(d) Lost in thought

Directions: Each of the following statements can be expressed by one word. Choose the appropriate

word out of the choices given.

11. A position for which no salary is paid:

(a) Retired (b) Honorary (c) Gratis (d) Unemployed
12.  An inscription in the memory of a buried person:

(a) Epicure (b) Epitaph (c) Cenotaph (d) Facsimile
13.  Practice of having several wives:

(a) Polygamy (b) Polyandry (c) Bigamy

(d) Monogamy

Directions: Fill in the following blanks by choosing the alternative that best completes the sentence

14.  Sana received three proposals mine.

(a) Except (b) Beside (c) After (d) Besides
15. I have no objection the proposals made by Adnan.

(a) To (b) For (c) Against (d) About



Choose the Correct Option:

16.

17.

18.

19.

20.

21.

22,

23.

24.

25.

26.

217.

28.

29.

30.

31.

32.

33.

34.

35.

Anam is the smartest girls.

(a) among others (b) of all other (c) of all (d) of

Terrorism will in the course of time.

(a) die (b) die down (c) die away (d) die off

Her attraction Bill has upset Sam.

(a) For (b) towards (c) with (d) over

No sooner did I step out of the house, it started to rain.

(a) When (b) then (c) since (d) than

The child when it is hungry.

(a) Only cries (b) cries only (c) cries alone (d) alone cries
GENERAL KNOWLEDGE

(a) Everyday science —15%

Which of these is a unit of Heat

(a) Calorie (b) Joule (c) BTU (d) All of these
Person with following blood group are considered to be universal recipient?

(a) A+ (b) B+ (c) AB+ (d) O+

Light Year is a unit of:

(a) Time (b) Distance (c) Energy (d) None of these

Laughing gas has chemical composition of following two elements:
(a) Nitrogen + Hydrogen (b) Nitrogen + Carbon (c) Nitrogen + Oxygen (d) Oxygen + Carbon
Penicillin was invented by which scientist?

(a) Alexander Fleming (b) Louis Pasteur (c¢) Edward Jenner (d) None of these
Chemical used to kill unwanted plants and shrubs are called?

(a) Insecticides (b) Rodenticides (c) Fungicides (d) Herbicides
Dry ice is:

(a) Methane hydrate  (b) Liquid Nitrogen (c) Solid Carbon dioxide  (d) Frozen Water
Diamond is a very expensive ornament. It is composed of a single element?

(a) Carbon (b) Gold (c) Silver (d) Platinum
Kilowatt-hour is a unit of?
(a) Power (b) Electric Current (c) Energy (d) Time
Chemical name of vinegar is
(a) Sodium Nitrate (b) Dilute Acetlc Acid (c) Chloride of lime (d) Calcium

Hygrometer is used for measuring the

(a) Speed of sound (b) Density of milk (c) Hum1d1ty of air (d) Specific gravity of liquids
Bronze is an alloy of

(a) Copper and zinc (b) Tin and Zlnc (c) Copperand tin (d) iron and zinc
Orbital period of the planet Mercury around the sun is

(a) 88 days (b) 365 days (c) 2years (d) 98 days
A moderator is used in nuclear reactor in order to

(a) Accelerate the neutrons

(b) Slow down the speed of the neutrons

(c) Increase the number of electrons

(d) Decrease the number of electrons

Which of the following lists the four stages of food processing in order?
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37.

38.

39.

40.

41.
42,
43.

44.

45.

46.

47.

48.

49.

50.

Ingestion, digestion, absorption, elimination
Digestion, ingestion, absorption, elimination
Ingestion, absorption elimination, digestion

Absorption, digestion, ingestion, elimination

GENERAL ABILITIES —15%

The income of A is 25% more than the income of B. in this case, B’s income in terms of A’s
income is:

(a) 75% (b) 80% (c) 125% (d) 120%
6% of which number is 3?
(a) 60 (b) 30 (c) 50 (d) 100

The average of 7 numbers is 5. If the average of first six of these numbers is 4, the seventh
number is:

(a) 14 (b) 13 (c) 12 (d) 11
How many seconds longer does it take to drive 01 mile at speed of 40 mph than at 60 mph?
(a) 15 (b) 30 (c) 60 (d) 90

Ten years ago, age of A was half the age of B. If the ratio of their present age is 3:4, what will be
the present age of B?

(a) 30 (b) 20 (c) 25 (d) 35
235-45="2

() 115 (b) 1% (c) 112 (d) 145
97— 31,=?

(a) 638 (b) 62/ (c) 7%/8 (d) 61/8
60% of 120 is ?

(a) 62 (b) 65 (c) 72 (d) 75

If Asim starts work at 8:45 am and finishes at 5:15 pm. He has 90 minutes of breaks. How many
hours does he work in 5 days?

(a) 38 (b) 39 (c) 35 (d) 40

A restaurant bill is made up of the following: 1250 for starters, 2855 for main courses and 895 for deserts,
plus a 15% service charge. How much is the bill?

(a) 5650 (b) 5750 (c) 5700 (d) 6050

A team of eight lumberjacks cut an average of 15,000 cubic feet of timber in a week. How many
cubic feet will four lumberjacks cut in four weeks?

(a) 30,000 (b) 25,000 (c) 20,000 (d) 15,000

A discount of 15% is offered on an item which previously cost 180. What is the discounted price?
(a) 153 (b) 157 (c) 165 (d) 150

Identify the missing number within the series: 33, 7, 19, 12, 5

(a) 24 (b) 25 (c) 26 (d) 27

Identify the missing number within the series: 86, ?, 79, 75, 72, 68

(a) 82 (b) 83 (c) 84 (d) 81

It costs a manufacturer X Rupees per component to make the first 1,000 components. All subsequent
components cost X + 3 each. When X = Rs 1.50 How much will it cost to manufacture 4,000
components?

(a) 2500 (b) 3000 (c) 6000 (d) 4000
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(b) Cutrrent Affairs — 15%

The present Chancellor of Allama Igbal Open University is?
(a) Justice Haziqul Khairi  (b)Irfan Siddiqui (¢)M. Khan Shirani (d)President Mamnoon Hussain
Budapest is the capital city of:

(a) Austria (b) Setbia (c) Bulgaria (d) Hungary
Asian Development Bank was established in:

(a) 1960 (b) 1964 (c) 1966 (d) 1968
British Prime Minister David Cameron belongs to which party?

(a) Labour (b) Conservative (c) Liberal-Democrats (d) SNP

Who is the Indian Foreign Minister?
(a) Mr. Pranabh Mukherji  (b) Ms. Sushma Sooraj (c) Mr. Saced Qazi (d) Mr. Ajit Agarwal
Who won the 2015 Wimbledon Champioship for men?

(a) Novak Djokovic ~ (b) David Ferrer (c¢) Andy Murray (d) Rafael Nadal
The Olympic games 2020 will be held in:
(a) London (b) Singapore (c) Tokyo (d) Beijing

Iranian President is:
(a) Mahmoud Ahmedinejad (b) Hassan Rouhani (c) Ayatullah Khomeini (d) Ali Akbar Rasfanjani
Pakistan recently got full membership of SCO that was established in:

(a) 2000 (b) 2001 (c) 2002 (d) 2005

Which date is remembered as ECO Day?

(a) 26 June (b) 27 October (c) 28 November (d) 31 December
The Number of member states of The Commonwealth is?

(a) 25 (b) 34 (c) 53 (d) 54

The International Coutrt of Justice is situated at: Hague Netherlands

(a) Brussels (b) Amsterdam (c) Helsinki (d) Hague

The incumbent Chief Justice of the Federal Shariat Court of Pakistan is:

(a) J. Riaz ahmed Khan (b) J. Saqib Nisar (¢) J. Umar Bandial (d) None of these
Confucius, famous philosopher and educator belonged to which country:

(a) Russia (b) China (c) Rome (d) India

Ashton Carter is United States’
(a) Secretary of State  (b) Defense Secretary  (c) Interior Secretary  (d) None of these

(c) Pakistan Affairs —15%

The founder of Faraizi Movement, Haji Shariatullah was succeeded by .

(a) Mohsin-ud-Din Ahmad (b) Mohsin-ul-Mulk (c) Waqar-ul-Mulk (d) None of these

Who led the Simla Deputation?

(a) Sir Syed Ahmed Khan(b) Syed Ameer Ali (c) Muhammad Ali Jinnah (d) Sir Agha Khan
Indian National Congress was founded by a retired British civil servant, A. O. Hume in 1885.
The first meeting of INC was held in

(a) Calcutta (b) Bombay (c) Delhi (d) Madras

In Lucknow 1916, who presided over the annual session of Indian National Congress?
(a) JL Nehru (b) M.K. Gandhi (c) Ambeka Charan (d) W. Bhai Patel
When was Burma separated from India?

(a) 1857 (b) 1858 (c) 1935 (d) 1947

Who was the first President of Pakistan?

(a) Sikandar Mirza (b) Chaudhry Fazal Elahi  (c) Ayub Khan (d) Khwaja Nazimuddin
The boundary line between India and Pakistan in creeks of Sindh is called .

(a) Blue Line (b) Green Line (c) Line of Control (d) Cease Fire Line
When was Canal Water Pact signed with India?

(a) 1947 (b) 1948 (c) 1950 (d) 1960
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The book “Reconstruction of Religious Thoughts in Islam” was authored by

(a) Sir Syed Ahmed Khan (b) Allama Igbal (c¢) Ch. Muhammad Ali (d) Shibli Nomam
“Montgomery”is the old name of which Pakistani city?

(a) Faisalabad (b) Hyderabad (c) Sialkot (d) Sahiwal
Qamar Zaman Chaudhry is the Chairmanof __

(a) PEMRA (b) NEPRA (©) NADRA (d) NAB

The oldest cantonment in Pakistan is ?

(a) Rawalpindi (b) Karachi (c) Kohat (d) Lahore

Who was the first Editor of Dawn newspaper?

(a) M.K. Azad (b)Pothan Joseph  (c) Faiz Ahmad Faiz ~ (d) M.A. Jinnah
Name the Pass which connects Dir and Chitral?

(a) Lawari Pass (b) Babusar Pass (c) Bolan Pass (d) Shandur Pass
Nanga Parbat belongs to which Mountain Range?

(a) Karakorum (b) Himalayas (c¢) Hindokush (d) None of these

ISLAMIAT — 20%

Which Surah starts without Bismillah:

(a) Al Bagra (b) Tauba (c) Al Nisa (d) Aal e Imran
What is Sahihain:
(a) Al Bukhari (b) Al Muslim (c) Bukhari & Muslim (d) Neh;j ul balagha

Who first embraced Islam among women:

(a) Hazrat Fatima RA  (b) Hazrat Zaineb RA  (c) Hazrat Khadija RA (d) Hazrat Ayesha RA

Arafat gathering is held on Zil Hujj:

(a) 9 (b) 10 (c) 8 (d) None of these
Total Number of Surahs in the Holy Quraan is

(a) 111 (b) 112 (c) 114 (d) 115

The Nisab of Zakat in gold is:

(a) 6.5Tola (b) 7.5 Tola (c) 8.5 Tola (d) 9.5 Tola

The original name of Imam Bukhari is:

(a) Shah Ismael Bukhari (b) Sheikh Abdul haq  (c) Muhammad Bin Ismaaeel (d) Nabeel bin Anwaar

Who was the first writer of ""Wahi" in Quraish:

(a) Harat Abdul Rahman bin Auf (RA) (b) Hazrat Zaid bin Sabit (RA)

(c) Hazrat Abdullah bin Zubair (RA) (d) Hazrat Ibn Masuod (RA)

Famous Hadith Book “Mota” was written by

(a) Imam Shafi (b) Imam Malik (c¢) Imam Syouti (d) Imam  Ahmed
Humbel

Quran contains how many stages (Manazil)?

(@ 5 (®) 6 (© 7 (CVR

Ramzan is which month of the Islamic year?

(a) 7 (b) 8 (©) 9 (d) 10

Who is regarded as the first Mujaddid?
(a) Sh. Ahmed Sithindi (b) Hazrat Umer RA  (c) Hazrat Usman RA  (d) Hazrat Umer
Abdul Aziz

Which mosque was ordered by the holy Quran to set on fire?

(a) Masjid Zarrar (b) Masjid e Haram (c¢) Madni Masjid (d) Makki Masjid
The word “Muhammad” has been mentioned how many times in the Holy Quraan?
(a) 3 (b) 7 (c) 5 (d) None of these

Name of which Sahabi RA has been mentioned in the Holy Quran

(a) Hazrat Abu Bakr RA  (b) Hazrat Usman RA

(c) Hazrat Bilal RA (d) Hazrat Zaid RA

Masjid Zu Qiblatain is situated in

(a) Taif (b) Madina (c) Makka (d) Jeddah
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97. Which surah has Bismillas twice

(a) Bani Israael (b) Al Nahl (c) Tauba (d) Al Naml
98. Who was a Historian, justice, philosopher as well as Politician?

(a) Shams ud din bin Khalkan (b) Abdur Rehman bin Khaldun

(c¢) Abu Bakar Muhammad Yahya (d) Muhammad bin Essa
99.  The longest ayat of the Holy Quraan is in Surah

(a) Al Bagra (b) Aale Imraan (c) Al Nisa (d) Al Maeda

100. Surah Maaedais in __ th Para.
(a) 4 (b) 5 (c) 6 (d) None of these



